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4. The integral f L=Setde is equal to

(a) 1—In}
(b) 2+In2
(¢c)1—1Ink
(d) 1+1Ing
() 1+In

fe.o]
5. The integral [ 2%e*'dz
—0o

(a) converges to
(b) converges to
c) diverges.

2(1) converges to
(e) converges to

o e L

Wiy

6. The series 3 | — Q/_

a) diverges by limit comparison test with 3 >

n=1n
b) converges by limit comparison test with > >

d) converges by comparison test with 707 W

1

(
(
(c) converges by limit comparison test with Z
(
(

e) diverges because lim,_,, —7= =

o
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1. The integral [; 9z? Inzdz is equal to

(a) 2¢* + 3
(b) 2¢% —2
(c) 3e* —1
(d) 2% +1
(e) 3e*+1

2. The integral [ sin 26 cos8dd is equal to

(a) —Zsin®0 + C
(b) —3cos30+C
(c) i311139-1—6‘

(d) ——c0s39+C’
(e) isin®20+C

1
3. The integral o t
integra { e equal to

(a) 2 -
(‘5
(c) £
(d) V3
(&) V2 —

a)
)
)
)

(o}
[

t\D
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7. The series E( D™ (z:551)

n=1

a) diverges.

b) converges.

c) converges absolutely.

(d) diverges by comparison with Y oo | L.
(e) converges because TL]LI& (z57) =0

8. The series Y. (—1)" 22

a) converges conditionally.
b) diverges by ratio test.

¢) diverges by integral test.
d) diverges by root test.

e) converges absolutely.

9. The limit lim Z represents the area of the region under the graph of

n—+o0 ;)

(a) y = +/z on the interval [0, 3]
(b) y=+vz+1 on the interval [1,4]
(¢) y = /= on the interval [1,4]
(d) y =+vx+1 on the interval [0, 4]
(e) y =+ +1 on the interval (1, 3]
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10. Use the properties of the integrals to determine which of the following relations is correct
) [ VeI
(b) 2 < f\/mda: <22
(c) jde <0
(d) 2\/§<1f3\/$_4?f-_1dx <z
(e) 0 < j Vri+1de <2

2
11. The integral [ |z — z%|dz is equal to
0

b) 1

c) —1
d) 5/6
(e) 2/3

a% -2/3

-

T
12. The integral [ sin y/zdz is equal to
0

(a) QSinl?g3 -2 o0 T

9 9
(b) %2 -1
(c) 1 —cosZ-

9
(d) -5

(©) V33
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13. The interval of convergence of the power series ) (2—35;})— is

a) [0,1/2]
b) [0,1
¢) (0,1

d) E—oo, +00)

e) {0}

14. If the first three nonzero terms of the Maclaurin series for tan™! z are used, then the approx-
imation of tan~'1 is:
a) 13/15
b) 11/15
c)2/5

d 5
e)) 123%15

15. The Maclaurin series for the function f(z) = =52 z #0 is
el —1)ngh
(@) 3 Gk
el o2n
(b) X oy
1 nx2n
( ) Z ((2n+2)'
:1:2"+3
(d) Z G

np2ni1
(© 3 S
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16. For o # 0, the sum of the series ) 5Ziyy is equal to
n=0

(a) e —1- %
(b) 3sinz

(c) £cosz
@

(e) 2(e? - 1)

17. The area of the region enclosed by the graphs of y = %, Y= 5}5 and z = 2 is equal to

(a) n2+ 3
(b) 4 —In2

18. 'The volume of the solid obtained by rotating the region bounded by the curves of y = /z — 1,
z =2,z =25 and y = 0 about the x-axis is equal to

21w

) 151?/
157 /2

)} 217 /2

e) 157/4

c T

[N
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19. The volume generated by rotating the region bounded by the graphs of y = 22, y =0, z =1,
and z = 2 about z = 4 is equal to

?%% Pl
AN
ge) /6

20. The length of the curve y = “—"”23 — h‘T“’, 2 < x <4isequal to

(a) 6+ 2
(b) 6 —In2
(© 6
d) 6+1n2
e)6—1In3

21. The area of the surface obtained by rotating the curve z = (y* + 2)3, 1 <y < 2, about the
z—axis is equal to

a% 21w
b) 217 /2
c) 21m/4
d) 207/3
e) 20w
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22. The sequence a, = %

a) converges and the limit is 1
b) diverges
(c) converges and the limit is /2

(d) converges and the limit is %

(e) converges and the limit is 0

o

. n LI

23. The series > 3;22 is
n=1

a) convergent and the sum is 7
b) convergent and the sum is 3
c) divergent

d) convergent and the sum is 5/2
e) convergent and the sum is 3/2
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o0
24. The series 5 —L— is
n=2

b) convergent by the integral test
¢) convergent by the comparaison test

B P e
(d) convergent because ﬂll‘n(}o —= =0

(e) convergent by the ratio test

ga% divergent by the integral test

25. The integral fol #“%\/—E is equal to

(2) n2—
(b) In2+ 1
(c) 3ln2-1%
(d)3ln2—3
(e) In2



